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Johnny worked at the factory last year, but he doesn’t work there . (A)again (B)anymore

(C) anywhere (D) anyway

Ms. Wang, we don’t have enough chairs for the class. Can [ borrow one of ~ ? (A) them (B)

yours (C)ours (D) hers

Both of those ship live on Mr. Anderson’s farm, but onthe leftisn’this. (A)all (B)another

(C) the one (D) the other

Please separate your garbage and it in the appropriate containers. (A) to put (B) putting

(C) puts (D) put

I’'m looking for Ms. Lee. Is the woman __is standing there Ms. Lee? (A) who (B) which (C)

whom (D) whoever

Reading English novels not as boring as you think. (A)is (B) are (C) whichis (D)

which are

« I help you?” said a salesperson in a boutique. (A) Should (B) Would (C) May (D)

Will

Mary is one of my best friends, but sometimes the way she keeps changing her mind on my

nerves. (A) getting (B) gotten (C)toget (D) gets
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